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Section A Questions and answers in English bk
1 Jacobis preparing a fruit salad. What does he put in it?

A ?X1

B naa?n

c MTR Man

D qT1e

Write the correct letter in the box. (1)
2 Saul wants to read the news today. Where will he find it?

A 190

B : 'y

C niam

D m?p

Write the correct letter in the box. | (1)
3 Anatis going on a tour in Isracl. What does she take with her?

A im'exn

B 1M

. S 1™

D [en

Write the correct letter in the box. (1)
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Tamar was visiting Israel and felt ill, so she went to the doctor and told him where it hurt.

Leave
blank

Write the correct number in the box.
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